
論文 / 著書情報
Article / Book Information

論題(和文) 変形制御機構を組込んだ柔剛混合構造におけるエネルギーの釣合に基
づく応答予測法

Title(English) ENERGY BALANCE-BASED SEISMIC RESPONSE PREDICTION
METHOD  OF FLEXIBLE-STIFF MIXED STRUCTURE WITH
DISPLACEMENT CONTROLLER

著者(和文) 野村 尚史, 佐藤 大樹, 北村春幸, 藤澤 一善

Authors(English) Naoshi Nomura, daiki sato, Haruyuki Kitamura, Kazuyosi Fujisawa

出典(和文) 日本建築学会構造系論文集, Vol. 78, No. 692,

Citation(English) Journal of Structural and Construction Engineering (Transactions of
AIJ), Vol. 78, No. 692,

発行日 / Pub. date 2013, 10

Rights  日本建築学会

Relation  is version of:
https://www.jstage.jst.go.jp/article/aijs/78/692/78_1705/_article/-char/ja/

Note  本文データは学協会の許諾に基づきJ-STAGEから複製したものである

Powered by T2R2 (Tokyo Institute Research Repository)

http://t2r2.star.titech.ac.jp/


�

1

���������������������

�����������������

ENERGY BALANCE-BASED SEISMIC RESPONSE PREDICTION METHOD 
 OF FLEXIBLE-STIFF MIXED STRUCTURE WITH DISPLACEMENT CONTROLLER

�� ��*1,� �� ��*2,� �� ��*3,� �� ��*4,� �� ��*5 

Naoshi NOMURA, Daiki SATO, Haruyuki KITAMURA, Takuya UEKI, Kazuaki MIYAGAWA 

It has been proven that the displacement controller which has hardening type hysteresis can reduce the displacement of frame or isolation layer against the 
huge earthquake from many experimental or analytical results.  However, it is difficult to evaluate the changes in response characteristics with various 
qualitative parameters.  The purpose of this paper is to evaluate the response characteristics of the flexible-stiff mixed structure with displacement controller 
qualitatively and simply.  Energy balance-based seismic response prediction method proposed by Prof. Akiyama is extended to the structure with 
displacement controller, and this method is validated through many time history response analyses using the single-degree-of-freedom model.  In addition, 
the estimation method for the passive controlled structure and the isolated structure with displacement controller is shown respectively, and the effectiveness 
of this method is demonstrated by analyzing time history analysis results and estimation results. 

Keywords : Displacement Controller, Huge Earthquake, Flexible-Stiff Mixed Structure,

SDOF Model, Energy Balance, Response Prediction Method 
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2.2 ������������������ 1 ��������

������������������������������

�������������(14), (15)������� 1 �����

�������������������no controller������

�������� 2 ������� 1.0, 2.0, 3.0 ���������

������������� 1n ����������������

���������������EL CENTRO NS ���� 1n = 2.0

�������������� 22)������������� ART 

KOBE ��� ART SHIN ������������� 1 �����

�������������������� 1n ���������
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0
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�

� �

0 1 2 3 4 5
0
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�

� �

� �� ���������� p S v = 80 cm/s �

p S v (cm/s) 

T (s) 

V E (cm/s) 

T (s) 

h = 0.05 h = 0.10 

(a) ����������� (b) ����������

ART KOBE 
ART SHIN 
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-400

0
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�

�
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0
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�

�

(a) ART KOBE 

A (cm/s2)

Time (s) 

A max = 385.8 cm/s2

(b) ART SHIN 

A (cm/s2)

Time (s) 

A max = 343.4 cm/s2

� �� ������������� p S v = 80 cm/s �

���� ����

����

  1������f T 1(s)

����

���������s α y

�������

   �������� d δ gap /f δ 0

����������

�����������fd κ
�������������

��� ������V D (cm/s)

0.2, 0.4

ART KOBE                   100, 200, 300

ART SHIN                     250, 500, 750

1.0, 2.0 3.0, 4.0

1.0, 4.0 20.0

0.02, 0.04, 0.08, 0.12, 0.15 0.01, 0.02, 0.04, 0.06, 0.10

0.2, 0.4

� �� �������

0 2 4 6 8 10
0
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3

�

� �
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0

5
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�

� �

rq

rq

n1

n1=10 

(b) ART SHIN

� �� n1 � rq ���

n1

(a) ART KOBE

n1=1 

��no controller      d δgap/f δ0=0.2� ���fdκ=1���fdκ=4���fdκ=20 

d δgap/f δ0=0.4� ���fdκ=1���fdκ=4���fdκ=20 

5

�������������� 1n ���������������

��������������� 1n �����

( ) ( ) ( ){ }
)(4 max

0
1

ysys

medmefD

Q
tWtWtE

n
δδ −⋅

+−
=                                 (16) 

� 6(a), (b)������������ maxQf ����������

� ys Q ����� qr 22)������� 1n �������� 6(a)���

ART KOBE � 1n � qr � 1.0 �������� 1.0�3.0 ������

������������� 1n = 1.0 ������� 6(b)���ART 

SHIN � 1n � qr � 1.0 �������� 10�20 ���������

���������� 1n = 10 ���������������� ysα

����������(14)�� 0max δδ f �= 0max αα ff ���(15)��

0max αα f ������

� 7(a), (b)���(15)����� 0max αα f � 0αα fys ������

1 �����������������������������

������������������ 0max αα f ����no 

controller �����������������������

0αα fys ���������������(14)� 0max αα ff ����

���� 0δδ fgapd = 0.2, 0.4 �����������������

��� 0max αα f �������� 00 >αα fys ���������

������

� 8(a), (b)���� A ��(A2)����� 0max αα f � 0max δδ f �

������������������������������

������������ 0max αα f ��������������

������(13)� 0max αα ff ���������������(A1)

� 0αα fys �������� 0δδ fgapd = 0.2, 0.4 ��������

����������� 0max αα f �������� 00 >αα fys �

��������������� 7, 8 �������������

���������� 0δδ fgapd = 0.4 �����������

0δδ fgapd = 0.2 ��������������������� κfd =1.0, 

4.0, 20 �����������

� 7, 8(a), (b)��������� ART KOBE �� ART SHIN ��

������������������������������

���������������������������no

controller��������� 0max αα f ��������������

��� 1n = 1.0 �������������� 0αα fys = 0.28, 

0max αα ff = 0max δδ f = 0.38 ��� 0max αα f = 0.66 ��������

���� 1n = 10 ����� 0max αα ff = 0max δδ f = 0αα fys = 0.11 �

�� 0max αα f = 0.22 �������� 1n = 1.0 ���������

ART KOBE �����������������������

0δδ fgapd = 0.2 ����������� 0max δδ f = 0.38 �����
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� �� α max / f α 0 � s α y / f α 0 ���
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s α y / f α 0 

(a) ART KOBE� n1 = 1.0 � (b) ART SHIN� n1 = 10 �

no controller

no controller

s α y / f α 0
f α max / f α 0

fd κ = 20 

fd κ = 4.0 

fd κ = 1.0 

fd κ = 20 

fd κ = 4.0 

fd κ = 1.0 

��no controller      d δgap/f δ0=0.2� ���fdκ=1���fdκ=4���fdκ=20 

d δgap/f δ0=0.4� ���fdκ=1���fdκ=4���fdκ=20 
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(a) ART KOBE� n1 = 1.0 � (b) ART SHIN� n1 = 10 �

no controller

no controller

fd κ = 20 

fd κ = 4.0 

fd κ = 1.0 

fd κ = 20 

fd κ = 4.0 

fd κ = 1.0 

��no controller      d δgap/f δ0=0.2� ���fdκ=1���fdκ=4���fdκ=20 

d δgap/f δ0=0.4� ���fdκ=1���fdκ=4���fdκ=20 
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δ max / f δ 0 
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f α max / f α 0

f α max / f α 0
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6

������������������ 0max αα f ���������

0δδ fgapd = 0.4 �����������������������

����������� 0max αα f ��������� 1n = 10 ���

������ ART SHIN ������� 0δδ fgapd = 0.2, 0.4 ���

���������� 0max δδ f = 0.11 �������������

���������� 0max αα f ����������������

������������ κfd ����������������

�������� 0max αα f ����������

�����������������������������

������������������������������

������������������������������

������������������������������

������������������������������

������������������������������

������������������������������

���������������

��� � �������������������������

�����1 �����������������������

����������������������������

���� � ��������������������

���������� 1 ������������������

��������

���� ����������

� � ������

������� M����� H����� 1 ����� 1Tf

��������� M������� 1Tf

���� ��� 2 ����������������������

�����������������

� � ��������

������������������� ysα

���� ��� 2 � 2 ��������������������

��������������������������

�������

� � ����������

�������� maxR ��������� maxα

����������� maxδ ��������� maxα

�����������

������������������� gapd R �����

������������������ κfd

������������������ gapd δ ������

������������������ κfd

���� ��������

���� maxδ ������������� ysα ��������

(14)������������ maxα �������������

ysα ��������(15)����������� 2 � 2 ����

������������������������������

������������������������������

������������������������������

��������� gapd R �� gapd δ ���������������

���������� gapd R �� gapd δ �������������

���������������� 2 �������������

���������������������� 1 ����� 1Tf =

2.0 s������������������� 1Tf = 4.0 s �����

���������� DV ���� 22)���������

hh
V

V
ff

E
D

2.131 ++
=                                         (17) 

���� hf �������������

���� � �������������������

� 9 ��1 ������������������������

���������������������� 9(a)������

�������������� maxα ������ maxR ������

9(b)�������������������� maxα �����

maxδ ��������� 9 ���� ysα �� 1 ���������

������������������������������

����������� no controller ��������������

��������� ysα = 0.02�0.30���������� ysα =

0.01�0.15 ����������� 2 ������� EV = 120 cm/s

��������� 2 � 2 ��������� EV = 240 cm/s ����

������������������������������

� ysα ���� EV = 120 cm/s � EV = 240 cm/s ����������

��������� ysα �������������������

������������������� ysα = 0.02�0.15����

������ ysα = 0.01�0.10 �������� EV = 240 cm/s ���

����������� ysα �� κfd ������ gapd R ( gapd δ )��

������������ gapd R ( gapd δ )�� κfd ������ ysα �

����������������������� gapd R ( gapd δ )�

����������� κfd ����������� κfd = 2.0, 4.0�

��������� κfd = 10, 20 ����������� gapd R ��

gapd δ ������ gapd R = 1/500, 1/200, 1/120, 1/100 rad� gapd δ = 10, 20, 

30, 40 cm�� 2 �������� 10 ��1 �����������

������������������������������

��������������������� 10(a)�������

������ 10(b)���������������

� 9, 10(a)������������������� 9(a)����

�� 2 ����������������������� EV = 120 

cm/s ����������� maxα � ysα = 0.08,0.12 ��������

� �� ����� ��

���� ����

����

  1������f T 1(s)

����

���������s α y

������������� �d R gap (rad) �d δ gap (cm)
����d R gap (rad)

���d δ gap (cm)

����������

�����������fd κ
��������

������V E (cm/s)
120 (98), 240 (195), 360 (293)�������V D

2.0 4.0

 2.0, 4.0 10, 20

1/500, 1/200, 1/120, 1/100 10, 20, 30, 40

0.02, 0.04, 0.08, 0.12, 0.15 0.01, 0.02, 0.04, 0.06, 0.10

7

maxR � ysα =0.08 ��� 1/120 rad ���������������

� 2 ������������������� ysα = 0.08 ����

����� 2 � 2 ������������������ maxR = 1/75 

rad, maxα = 1.0 ��� ysα = 0.08 ������ EV = 240 cm/s ����

������� maxR = 1/75 rad �����������������

������������������������ maxR ����

�� maxα ��������������������������

�������������� 9(a)��� ysα = 0.08 ������

gapd R = 1/500 rad, κfd = 2.0 ������������������

���������������� 10(a)�� ysα = 0.08, gapd R = 1/500 

rad, κfd = 2.0 ���������������������� 10(a)

������������������������������

����������������α �������������

������������������������������

������������������������������

������������������������������

����������� 26)�������

� 9, 10(b)������������������� 9(b)����

�� 2 ����������������������� EV = 120 

cm/s ����������� maxα � ysα = 0.02�0.06 ������

������������� 2 ����������������

��� ysα = 0.02 ��������� 2 � 2 ����������

�������� maxδ = 60 cm, maxα = 1.0 ��� ysα = 0.02 ����

�� EV = 240 cm/s ����������� maxδ = 60 cm �����

������������������������������

������ maxδ ������ maxα ��������������

�������������������������� 9(b)���

ysα = 0.02 ������ gapd δ = 30 cm, κfd = 10 ���������

�������������������������������

� 10(b)��� ysα = 0.02, gapd δ = 30 cm, κfd = 10 ��������

�������������� 10(b)��������������

��������������������

��������������������� 1 �������

���������������������������

���� � ������������������������

� 9 �������������������������� 9

������������������������������

���������������������������� κfd

���� gapd R ( gapd δ )�������������������� 2

������������������������������

������������������������������

�������������������������� 9 ���

������������������������������

������������������������������

������������������������������
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(b) �������� f T 1 = 4.0 s, n 1 = 1.0s α y = 0.01�0.10 �

no controller 
VE = 240 

dδgap = 20

dδgap = 30
dδgap = 40

sαy=0.02sαy=0.04sαy=0.06
sαy=0.10

fdκ = 20
fdκ = 10

� �� 1 ������������������ART KOBE�

dRgap = 1/500

α max 

R max (rad) 

sαy=0.02

(a) �������� f T 1 = 2.0 s, n 1 = 1.0, s α y = 0.02�0.15 �

no controller 
VE = 240 

dRgap = 1/200

dRgap = 1/120

dRgap = 1/100

sαy=0.04
sαy=0.08

sαy=0.12sαy=0.15

no controller 
VE = 120 

fdκ = 2.0
fdκ = 4.0
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(a) �������� f T 1 = 2.0 s, n 1 = 1.0, s α y = 0.08 �

� ��� 1 ��������������������ART KOBE�

(b) �������� f T 1 = 4.0 s, n 1 = 1.0, s α y = 0.02 �

VE = 240, sαy=0.02 

sαy=0.02 
dδgap = 30 
fdκ = 10

����

����

VE = 120, sαy=0.02 

α max 

δ max (cm) 

no controller 
VE = 120 

no controller 
VE = 240 

no controller 
VE = 120 no controller 

VE = 240 

����

����
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������������������ 0max αα f ���������

0δδ fgapd = 0.4 �����������������������

����������� 0max αα f ��������� 1n = 10 ���

������ ART SHIN ������� 0δδ fgapd = 0.2, 0.4 ���

���������� 0max δδ f = 0.11 �������������

���������� 0max αα f ����������������

������������ κfd ����������������

�������� 0max αα f ����������

�����������������������������

������������������������������

������������������������������

������������������������������

������������������������������

������������������������������

������������������������������

���������������

��� � �������������������������

�����1 �����������������������

����������������������������

���� � ��������������������

���������� 1 ������������������

��������

���� ����������

� � ������

������� M����� H����� 1 ����� 1Tf

��������� M������� 1Tf

���� ��� 2 ����������������������

�����������������

� � ��������

������������������� ysα

���� ��� 2 � 2 ��������������������

��������������������������

�������

� � ����������

�������� maxR ��������� maxα

����������� maxδ ��������� maxα

�����������

������������������� gapd R �����

������������������ κfd

������������������ gapd δ ������

������������������ κfd

���� ��������

���� maxδ ������������� ysα ��������

(14)������������ maxα �������������

ysα ��������(15)����������� 2 � 2 ����

������������������������������

������������������������������

������������������������������

��������� gapd R �� gapd δ ���������������

���������� gapd R �� gapd δ �������������

���������������� 2 �������������

���������������������� 1 ����� 1Tf =

2.0 s������������������� 1Tf = 4.0 s �����

���������� DV ���� 22)���������

hh
V

V
ff

E
D

2.131 ++
=                                         (17) 

���� hf �������������

���� � �������������������

� 9 ��1 ������������������������

���������������������� 9(a)������

�������������� maxα ������ maxR ������

9(b)�������������������� maxα �����

maxδ ��������� 9 ���� ysα �� 1 ���������

������������������������������

����������� no controller ��������������

��������� ysα = 0.02�0.30���������� ysα =

0.01�0.15 ����������� 2 ������� EV = 120 cm/s

��������� 2 � 2 ��������� EV = 240 cm/s ����

������������������������������

� ysα ���� EV = 120 cm/s � EV = 240 cm/s ����������

��������� ysα �������������������

������������������� ysα = 0.02�0.15����

������ ysα = 0.01�0.10 �������� EV = 240 cm/s ���

����������� ysα �� κfd ������ gapd R ( gapd δ )��

������������ gapd R ( gapd δ )�� κfd ������ ysα �
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������������������������������

��������������������� 10(a)�������
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����� 2 � 2 ������������������ maxR = 1/75 

rad, maxα = 1.0 ��� ysα = 0.08 ������ EV = 240 cm/s ����
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������������������������ maxR ����
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� �

dδgap = 10

no controller 
VE = 120 

α max 

δ max (cm) 

sαy=0.01
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